
50

A
F

=(A
T

-P
L)/2

A
nchura H

oja F
ija (A

F
)

20

P
E

R
F

ILE
R

IA
 P

IN
Z

A
 2+2 G

LO
B

A
L S

Y
S

T
E

M

D
E

N
O

M
IN

A
C

IO
N

A
4

A
nchura V

idrio H
oja M

óvil (A
V

M
)

A
ltura V

idrio H
oja M

óvil (H
V

M
)

A
nchura V

idrio H
oja F

ija (A
V

F
)

A
ltura V

idrio H
oja F

ija (H
V

F
)

A
nchura H

oja M
óvil (A

M
)

A
ltura H

oja M
óvil (H

M
)

A
V

F
=A

F

A
V

M
=A

M

H
V

M
=H

M
-46

H
V

F
=H

F
-60

A
M

=(P
L+100)/2

H
M

=H

S
ección P

.P
inza

F
ijación con P

erfil A
utoportante E

rreka

E
scala: 1/5

S
ección H

orizontal
E

scala: 1/2

160

60

E
scala: 1/30

A
lzado

S
ección V

ertical
E

scala: 1/5
F

ijación con U
P

N
 160

F
O

R
M

U
LA

S
 P

A
R

A
 C

A
LC

U
LO

 D
E

 M
E

D
ID

A
S

A
nchura T

otal (A
T

)

A
ltura H

oja F
ija (H

F
)

P
aso Libre (P

L)
P

L=(A
T

-200)/2

A
T

=2xP
L+200

H
F

=H

A
nchura T

otal (A
T

)

P
aso Libre (P

L)

Altura de Paso (H)

A
M

=(P
L+100)/2

A
F

=(A
T

-P
L)/2

20

7

50

P
L=(A

T
-200)/2

A
M

=(P
L+100)/2

A
T

=2xP
L+200

HF=H

HVF=HF-60

HM=H

HVM=HM-46

HT=H+160

HT=H+160

HVM=HM-46

HM=H

HVF=HF-60

HF=H

50

A
F

=(A
T

-P
L)/2

20

7

60

HVF=HF-60

HT=H+160

HF=H

HVM=HM-25

HM=H

C
on P

inza A
rriba

60

160

165

160

165

165

160

60

60

(O
pción_1: D

ebajo del operador)
(O

pción_2: D
ebajo de la viga)


